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ENGLISH LITERATURE AND COMPOSITION
SECTION II
Total time—2 hours

Question 1

(Suggested time—40 minutes. This question counts as one-third of the total essay section score.)

Carefully read the following poem by Mary Oliver. Then write a well-organized essay in which you analyze how
Oliver conveys the relationship between the tree and family through the use of figurative language and other poetic

techniques.

The Black Walnut Tree

My mother and I debate:
we could sell
the black walnut tree
Line to the lumberman,
5 and pay off the mortgage.

Likely some storm anyway
will churn down its dark boughs,
smashing the house. We talk
slowly, two women trying

10 in a difficult time to be wise.
Roots in the cellar drains,
I say, and she replies
that the leaves are getting heavier
every year, and the fruit

15 harder to gather away.
But something brighter than money
moves in our blood—an edge
sharp and quick as a trowel
that wants us to dig and sow.

20 So we talk, but we don’t do
anything. That night I dream
of my fathers out of Bohemia
filling the blue fields
of fresh and generous Ohio

25 with leaves and vines and orchards.
What my mother and I both know
is that we’d crawl with shame
in the emptiness we’d made
in our own and our fathers’ backyard.

30 So the black walnut tree
swings through another year
of sun and leaping winds,
of leaves and bounding fruit,
and, month after month, the whip-

35 crack of the mortgage.

“The Black Walnut Tree” from Twelve Moons by
Mary Oliver, copyright © 1979 by Mary Oliver.
Usced by permission.

Unauthorized copying or reuse of

any part of this page is illegal. GO ON TO THE NEXT PAGE.




2013 AP English Literature Scoring Guide
Question #1: Oliver, “The Black Walnut Tree”

General Directions: This scoring guide will be useful for most of the essays that you read, but in problematic cases, please
consult your table leader. The score that you assign should reflect your judgment of the quality of the essay as a whole—its
content, style, and mechanics. Reward the writers for what they do well. The score for an exceptionally well-wrilten
essay may be raised by one point above the otherwise appropriate score. In no case may a poorly written essay be scored
higher than a three (3).

9-8 These essays offer a persuasive analysis of Oliver's use of figurative language and other poetic techniques
to convey her ideas about the relationship between the tree and family. The writers of these essays offer a range
of interpretations; they provide convincing readings of both the ideas and Oliver’s use of figurative language and
other poetic techniques. They demonstrate consistent and effective control over the elements of composition in
language appropriate to the analysis of poetry. Their textual references are apt and specific. Though they may not
be error-free, these essays are perceptive in their analysis and demonstrate writing that is clear and sophisticated,
and in the case of a nine (9) essay, especially persuasive.

7-6 These essays offer a reasonable analysis of Oliver's use of figurative language and other poetic techniques
to convey her ideas about the relationship between the tree and family. They are less thorough or less precise in
their discussion of the ideas and Oliver's use of figurative language and other poetic technigues, and their analysis
of the relationship between the two is less thorough or convincing. These essays demonstrate the writer's ability
to express ideas clearly, making references to the text, although they do not exhibit the same level of effective
writing as the 9-8 papers. Essays scored a seven (7) present better developed analysis and more consistent
command of the elements of effective composition than do essays scored a six (8).

b These essays respond to the assigned task with a plausible reading of Oliver's use of figurative language
and other poetic techniques to convey her ideas about the relationship between the tree and family, but tend to be
superficial in their analysis of the ideas and of figurative language and other poetic techniques. They often rely on
paraphrase, which may contain some analysis, implicit or explicit. Their analysis of the relationship of the ideas or
of Oliver's use of figurative language and other poetic technicues may be vague, formulaic, or minimally supported
by references to the text. There may be minor misinterpretations of the poem. These writers demonstrate some

control of language, but their essays may be marred by surface errors. These essays are not as well conceived,
organized, or developed as 7-6 essays.

4-3 These lower-half essays fail to offer an adequate analysis of the poem. The analysis may be partial,
unconvinecing, or irrelevant, or may ignore Oliver's ideas about the relationship between the tree and family or her
use of figurative language and other poetic techniques. Evidence from the poem may be slight or misconstrued, or
the essays may rely on paraphrase only. The writing often demonstrates a lack of control over the conventions of
composition: inadequate development of ideas, accumulation of errors, or a focus that is unclear, inconsistent, or
repetitive. Essays scored a three (3) may contain significant misreading and/or demonstrate inept writing.

2-1 These essays compound the weaknesses of the papers in the 4-3 range. Although some attempt has been
made to respond to the prompt, the writer's assertions are presented with little clarity, organization, or support
from the poem. These essays may contain serious errors in grammar and mechanics. They may offer a complete
misreading or be unacceptably briefl. Essays scored a one (1) contain little coherent discussion of the poem.

0 These essays give a response that is completely off topic or inadequate; there may be some mark or a drawing
or a brief reference to the task.

-- These essays are entirely blank.

Version 1.0



Write in the box the number of the question you are answering i | ]
on this page as it is designated in the exam.

la \\le Q[ﬂ"’k M’M«q‘ TM(,”/ My Ohver (ertes ,ch [fogm ———

dhe blwk valut 4rce to g e poadlet Jovten f&c/mqfﬂ? sl

53‘7(”"‘6"*"-"17. [~ lines ]“U/ 'H\_E wie WL Airett p{m{-fwﬁ Lra e S

-Hq,z, rpﬂuf/‘h'o-v/ motiary 2 }?'U[W‘u/{ gb{/“"] e taee ) u/h‘(f/h 5 (N

Cantrngt  with mone abstaf sod  foguatw e pleseophnn s of

thewbty focling s, and  Preams FRAT prepet the serdiet] VaLY:

of the e as a @ symbelic f“(,fﬂ)‘-‘f"""t*f?m oL Hhe 764,,,,‘[7 i

Seen (v how 4l trec twdors 1 lneg 30-35 g stad Mg 9 Jwery

certr | ak/cimwﬁ"( abent  Hhe [ﬂl/p\.l“h_lol.ﬂ ratare  of $.entimind

QAV( f/\,e, tndwrance (91[[' &p.'Tv.

ll\ ’{')'\l' qq.@-‘- r][;‘q({,t.ﬁ-/\ {m,bj/ Qlwbr"; u-)'}- \}"# [u./\‘}\«LUV, Ve [rvﬂ/\T

Cans M-

(e | , (oAve] g A A of the mill ConvelSak on e Wﬁu

?n»c'hwl },-uufiu selhng 44 free, MWM the e

i prustd te U5l b Pld velod T o phe Tumbernnd ey

TI'I “‘?“ the tree s Aot gef )70-'\ ﬁkfonl.—ca( any 'fltl'i( +he

fuet that  Fherv i - ekt (o § edts 4 eifers J‘MAM7

Thet i5 2t vpt app]. 7’%;& omrl-v.au of e ¥

’rk& lf!MJ oL

ety R R R )

{ MW( ﬂ\\f “The Free iy E‘u“”\‘i aQ )ﬁ‘\'\/&lﬂ/’ 'f? V"-LM«MM

w4k e 2 gpd paiaps T pushi o ge dewnss

a practial Compe pokoas gV paq o th portgage TO5),

TLL' vggse noalVation of Has the ofm[%Z\u thraqhae Sy

I(f "\; Q’tfﬂﬁq'cmf | A ‘/\0""’ 'f‘L.C Wt o cl\["j CA:‘\M\F?

U\Uloa“d‘ (7-.1\-0[ ‘ﬂ’\?/ f’l.{,-[* Ve r&LV\ ant 'f'v»“hm? ‘(rllpw’fl\T “(4)

.{,u\')j%’tj "f'l-\w v ,mc*ilnm-] AQQ_P{/‘ 9n -!’L\wa‘ rv‘\r/\r/{} /{_Q\W__

S,
r



1 : Write in the box the number of the question you are answering ‘ 2

on this page as it is designated in the exam.

MgolR], &0 wpbap. The degunpim oF the fwo demtn ap Utr
Gz (n n JHhele e b b AT (9-10) pvelets the (uga
(ndltt withn e peem  ath goqads 4o Yt o may b
male the wize feemea and yryhs deetnen  beborneen WhiAf

O prastred pd ot 5 shsmetly anlk pubily meameg Bl

!'n Cntogy WAt et fiden lnes the Sht o phe founs

of ddungtion  fam dialogat te Fhwibty emotions aad Vizisag |
/I'\//f 6829 q gt 30 (fes the | i fasce dhe  rze  olds
~ @ ?-/rlw{ off ql;,ulv]c@‘v anlﬁp{’a{qf the fefatatiag of fhe

W\\wL of ‘W’A“’l s g ja hew “{nm&r%l«? L,mw Ahnn e
revef (o o bLlbed

e s oA oeten ISy ) T e——
£k ”),

ikt fditndes Hhat their {r»mnf/\v Jfo lere fka Tres

s ﬁ%ﬂ\{/rhrn? that Vuns thrvea ),  ther very wen S Sty fe,

Ahe hﬂar{’ pwf”“"j ew=gD A 5"?/*'\7 plu&g v Gertymeaf,

Thiy JQJM‘] M""w 3 ('\""‘M“) e M“ZL gy e alwm(c “f

o el b(,H’[ﬁ)} ¢S P&F“JMVI'M‘— atf Their mnnte  nafars

Tl-\lvf’ o M -“lv-ﬂrfb wid T, “Jr-? ond G ([‘1) cL;o\/“ Fhe

tree olds o siyatfact Gymboln value £ the ﬁf“ﬂvg

n/\J tHhe a2 %[ the ??“{["5 -fd:.’fl"‘q ot of (urhamrs, (2,2//

Toding g4 pifoe Aty e (lade ®alg tee il thap

of- theis Pamily e, Za Le-f"«, the Jemrs dr Get heavies gugy,

Mear, bt g e v faot that g dhe dree S

ey TEA wirt Ko Yo guddialy qed, the spder fa,

h/kmtts she s PR, e ¢l W}{f‘l’\ JM_V\ 4

T R R L T bsdteal *[50)

—>



Write in the box the number ol the question you are answering i ] : 3
on this page as it is designated in the exam.

This vord thak 13 detinled W il Hhe coptinets

Aythet  fuch o et 3 an m&fm ot yéuflﬂ-/ fies  wWhhadt

He Llacke woulant AU phe it gk bt fade Ao fhers

fachetd pod  thuwe fitla fothes fuddealy  Lecmes Jest

himt aA AT FRG Shafreena Haant ey ontee 3RS g

practial Cgaw'-o[;’b I ThL g sf praney = (et Tlop

L’U /\d,rru’\/‘-'\’ M\{M d.A/{n/]\

I the dlosing fined 3990 e eadunng presena of Hhe

—%‘/X/Q Srfln{ﬂbf ‘f'}\ﬂ, S'P’efq‘\/\/‘ ol b WQ’TL'\/‘} 0{,6(.«5\.{,\ 4/7(// s ()

9[1M7 [uf)l;-f Me(f o ol Hhe 1 anpors ace . Arenybh o f

T['a/"&‘\:{v If‘ Fha .ﬂ/;(,f M@M ].M.J’,Hu, Ao wmtn At waﬂj

‘blw-JL\ and Owl\’ vrth e cotias | ”»J”/A,U—UJ A e neet

Mf—‘-" \Ju_() 'TE‘;(/V] L-U[M f*gmgml.p,nf\?’ g ey ok qfeolw\.]

AR

and  gheh g o et Gecsdt (edd g Taabey Y (2)

"['[,.,"( Centraft !-,‘;}Mﬁ]kff e P& nccrlirt, of J_{M,)

able 1o cntemplede famlly with e (otrts of 7

[(\Ul!\‘f_ (I’L't (’J"- WA 'hﬂ?"“(ﬁ ?}'MLML""; f"“f" i g /‘me/f‘hrfr?

hat geel for L@t?m,fi Tatonnldy o faﬂtrffw“ffﬂ, anck (1

M«ﬁund\u\ A mon 4q(ﬂ eotismnl. The denny leas of

‘F\\-" Tren, a~h £\1 XX fnon e FNV..L? Inglawrta 4NN h

W ek D) ity o) o he SwWhipendk o the

M?W ! (3"”}'5) Cw\\f\’%’] e f“d—ff]‘v“\(.é OF ’HM/ %Ami]-ﬂ

ﬂf") J;lu erio""' 9,! ’HM’M Cb/furfﬂ-./’ M1 R aAfpcfﬂz‘l[/f i

I_t\ \,'JF‘V- Qiﬂ&k \/\/ﬂ\\""’f W”, Qltvﬂj M‘a"(f g,[ S}ﬂr"{C'qu\L

p-ﬂq{z&%&) "['l(\}— C e Xrnf M{Mw Fhe EJf‘a,(/tﬂaM .9,C 5»@,”(:«7
| T—



‘ Write in the box the number of the question you are answering i L"
on this page as it is designated in the exam.

off g th Sl valnd  Gnpe and the centml pmpe/daee

of Tetnimng A (A ) J‘lef““ yrpeHatatica ad Pheir family

Jree LU L‘I'/rtf‘j LA i o fOLEMT ends f/?f"f&/f The

mporrte o Lonfimint ol emetims amd  hightqMy Olwey

vﬂd\v‘wg\f\w'l WJ.(%'L!— Jc‘lﬂfvf‘ Pﬂ(ﬁf[‘(ml 'h""“’[} J‘\,.UL\ S MG Qr

Convemine T}”O-‘l (N (e pivan Y A he [mpﬁf‘{a\/\tﬁ— 3’{“[;(,“;,?.

e o

—




T

Write in the box the number of the question you are answering /l— “‘
on this page as it is designated in the exam. -~

In poesm 77”14 Placlt Wodnut Tf\(f,& Mcf-\ﬂ,/} Ofiver

wntrosts the  Prackical needy of a '1('(1/-14["[-&/} {;«f‘fﬂﬂ The
vinohonad  honds thal ace egmalluy m(&fcﬂru./ h hold _peoplt
-hmm’h@’ Tn i lusiaban this L(Omchc/l thr sy &ewlo)ﬁ
WLWO WMHA ot A \L”{Glho'ml”lﬂ Jw(irw%% he Lo V\ ondh TN
Thee, {zua,( (elabionifarp v - +wo women tnd o \mfda ble plea
of Y’(or}&fm _amd_an ﬂ”(’—ﬁ/‘om col_ ﬂ,(mhfm}up whero [ TCNJ/
SHM{L) X /M Yhe, Ohhccd’/ thiead  tying oefhe e daml
/Wﬂrwl« wse  oF § lm.acM)vm S e | fmnﬁeu M‘/mJ Qwhm Olipe Slfz?w;
Tfmz% {he. f?lothor’mw M}wwn ’W‘Q fomily  end }7«43 Inep  TrOMSCN
mﬂ*\mmhsm e neprenenty fhe D{rwh'ﬁxi, and__infinite
(Dl’”’)@hka/h Tha t hod/ TDowTNf a__tom e, wen  anainni 'ﬁt’,
friads 18 e, o i & ‘f

D 1y Y0£um )zw/r‘m @)“.Wﬂ M{mrﬁn% wWihsipn _he

FE% & Angther Jﬁafémﬁdﬂ, Wik (o LC Cad ¢l ~ 0{{/)va

Olives wes T wdgery o1t “devit Youos“ 040( JW‘MM%
ot Wy yoomohes {{mﬂimf theie home T i’/l/UV(’ a Ll of
Jwr. grocboal Wml The _Tyer s O(QI’W;QW% 2, é
O{MMM(?(U\ omr/( mftf\ir/\/ {\&wwﬂF /f\ao?mcﬁw @%’%wf“
1[’0 gowh/y ‘WJIOJ Uz ff\p WLD et down T}\Q W(/u,)r%
palelSushes. They, | w m dongers _of 1l Irep

_m\g v one. Yok ,)‘/ 1ro ol G\fam/g o;furu with ht%mf/'/(mq
That ?a/makﬂ heir abilify o sovive g5 o fumily B4 the 7
gl (exed, fh ‘%ﬂﬂml& ﬁ&f/) ﬂ\ﬂ er ok o ﬂ/olaf-h-@
hieet, addmy hn%;, fo w;%ﬁ Wt T oty




1 Write in the box the number of the question you are answering F E

on this page as it is designated in the exam.

dmm {he, ’h"& by MI’ZMA\W h ke Waoﬁ‘(al’, mwhcms{m of
\(%WW/\ e T\“&é{ A W’Hs Lens (‘)hw do e/ ww Tho__Tnes
") @ ! M? aqgothes Wy ﬂfofm {hat th %wml«/\ Conm
251l o mwc«m el ‘

g/l e et Dol the women an_ ulbmattds,  vmakte
© UMMM fre U'Wwf/CDﬂ/LL wpldent dem ,ormmv'{ the dezp
hmmfmu(/of- e oo a mack ot m —Famam
l’V\ﬂ“vr»} od oy o membe of  Tredr o _OI(W
dm WW(WS that  their  omehon f (K W 15 aia‘?ﬂz)fl-
Iotlagr when SRe npiea [haut W/V} Nl "o f?jfm_ ¢ ﬂw/ "Move )y
ia\ Qﬂw‘ﬂ blogol " The e, um=se .
JIﬂmbw(;; 2 n, IS \mwoj(zbtz ) CMFG[W»? WMM (5
Py (’cva 0 F Them, mao( @ Wfrvt € Dot bloo oL - /}\?/
fret ﬁrrm the WL«A "vmm/ agadnt [ho _onhmal
iy N, e, wmc/m / Olver Mmbm f’h”w’f« o, wotaph ot
“whw ceachc” aH‘m marrm/ma%%a%f @3 T?xo w[o»mfi
“Suvas o snstide e The hw gt
madk x’smwh ‘cal Conguny hrM beony, 3 c‘»( mﬁn/?o/ F
fhuir_fumily_which swigs o frrouh ,{-hﬁﬁ\(ﬂ% o
on The  Yahi  of bﬂ/ﬁhrv{"hm A’refzf/&&’,ﬁﬂ Lered, g
e Stondy . fic not Uﬂ(/m W ynwle @f Fomw&/) [he
“Somethivy Yeic sl {hv ma(@m’ }mF m?/)() fir_{ho wowﬂ,m (ool
Smﬂ\fiw%mﬂ\ﬂf J‘W/‘ o4 77‘? Ww:h n th  patuad,
ol 6f "hlwkieddn " ol “fresn W\O{WOM Oy e frec.

s 0 conodl rominger of That  wilf wwa{ As it d{ms (5 roets




pur——"
Write in the box the number of the question you are answering t e
on this page as it is designated in the exam.

wkes fhey hOW\{ it alsp 5« iﬂ(!fé’r’i of Thair ‘thﬂl/uf,, o
(@ﬂ[ﬂu’/{W\" Por Ym& “Wqﬂhﬂm ot woudd Qe i ey ivens
h fhow ogif RO W,, aloqg_with o w[Mfu“évx Lf}?owi{}*
/H’WUWH'\ 1he \/WS }?LM@( on Shvmo: C;@&Tn%whm.g ond__a 00 fu LOI-*{L-,‘
/”‘e tros JI”MA/} hveS M fwo d{\aaﬁms o ol ppadm __ond o
aﬂu\w‘cai sl WhilL on DY curbuer e lnes dypas fo
he danges b0y mem:um it 0 abo R o/l gerk of
{he ’Fvwml/v\ helduwy  from 73%?7’\9/ 0 _an W Lnhi vjaf(a’ The

bot | smd.\r\\)} o T ditre, is o loed womber %t 170 bunily,




Write in the box the number of the question you are answering | 5- l
on this page as it is designated in the exam.

The importance ot %amlu This_element [§ Vens
ol edurW Seen in My Dlivert poem. " the Wlagk
Wa@nm Tree". AS omu howing o mother Present In
hor i, A dosghted, e nWrm:f'or, Must heblo her
mobur make & diffioutt fingndad deticjon on
whether oF hot 10 keep do black Walhut et Jhat
Huy howe in Hir DAL\ FaiSHet_ppegtntC
o Gopetion-0F  Thic Wee 1§ @ conneator of
gentations_for bodh e nduraiolr and ner ot

Like, Wih 0ndg AIFFICULE ASIONS, Yne. mothesr ana

A giter mlom e penetits and disadvantager 1o

§ LM,HM down ¢ Hee. Thoy "deoode" (01iver nnu) and.
"otk Clowhy, .. ﬂmm i mdt%ﬂu%uﬁ Hhne 4o e wise"(line 1.
Wiing Me wm 1o deScribe, iy convarsations, Ohver
mﬂke& it cleax Yoot Wi s ot an eddy deusion and
Yoy Moy ot ¢ee eye=1b—tie. on www ngint
w\w\g ) o \S. They bt}Hf\ ha/\w eadon¢ v gell, rooh(

n e el durpan® (Hmu) and. "trwit harder 1o gakvr
mw“(l\m 15) | but et as ey are Aalkng, Jrhw e

hot mﬂsﬁm Wit erS@ reasons- This xs*humr %m e

adfe (Aron Yingy ot for Hw tree i€ not cuperficios. Thire

1€ 0. deepor mmmna What +hic Hee holds jnh wach pb
Padb \ives Atbnough they cowdl "pouf off e mortgage” (iheS)

=




% Write in the box the number of the question you are answering 8*_ ;p
on this page as it is designated in the exam.

wWith e ffnonw %m WOWlA \reCiie, 1 howedt -
nok mﬁ&m e \mpormc,e, Wt WS black. WMW
-Hce{ s vv1+hm mr fzufm , .

Ling 16 hota&m oW-@h[H.ih Hhe, PoUN | M espeni Aoy
n_oeginhing Hae line With Yre word “Biek". oliver ugts
Wis: a¢ a O 10 begin o pen fepec tlement. of
e oo e hmhlmhﬁzd ehmentt  Of mmnu Thwe .
wnwwaﬂmam% e mother _and. W
ChINGRS from? adVantnges o selling o mmméomcf
a,bowr the memones m&soawrat wwh Y, e Tﬁ@k
AN edGe chhp M Guick as A frowel hat wantd ug
10 dig and QI (e - 19D . 0llner uSes dhic Simike 1o show

H auw«s Aegie, . rh? pcrswm and- dig decp S0 that #wu
T . i) 7 , 1 ; ;

ton money in pur blooal Uip Le-17). They hau»e lowe .

i NOt . by do- ey DR i - good wzmﬁomhip potecn
; e JﬂNO O W\Wh [ Loty peniiver s (€. )mplicd

Qe L ohly fwmnu for eavnother. Without a @ona
| Male head of e houSthoids dng. Mothey VBB e making
ML 0t e Dugh dedlong. Most likely o widovy She dhad
e desice fo prove fo ewenont that che €A <tong
| WO aht independont | she, agco_has dne dasire 40
be A dood volt wodel 10 her dauginet.

| e




Write in the box the number of the question you are answering E 8_” 3
on this page as it is designated in the exam.

Do W modhar  and ddugin i Enoiy gt
. oA - howe ot mlmoz of Femorse it g oud-
dowh and solel e freee, A6 Oler — MToribes. hat
ey wold U oo With Chame (h e LMPTNECE L Hirw &7).
-~ Thic 1€ hot ony their baceyourd, but it nar " owr father’
baskyaxd " (ling. &4 aS well-This fine Cheary oy makes
We dree o Conneupy  of Wwﬁmg i n@ 0. SPih o£F
0+ o Iitkerns, mnw e N gk Hhe ack wolnut
e metuphoricliy conheots e dhree Wahm&
\fww&&h’moﬂ in. w potdn . Thre i€ an Wwf of
Yap pOSSOGL 0F 1ime In He last fow tines, but it s #25s
e of ASSWINGe I dhat e tree sninge %mwh
M0 Yeok .. onth atter mondh, e Whupf/mw pf
LAY mwma%“(“hﬁd 2,35) - The fam awkhpr ohdd with
eSS oo had e family ahol tree Wil “swive!
L 4 ﬂnamaﬂw ol thae@q Sigtdple -

’hi& WOC G e ol M&iw/ubzwg on/
importinee of ine morvfﬁa@emm for. ¢ne fumiy,
Uhe CONILATONS gt e \Aaok Washut Hree kel
Wt Qrequbth Yagh . e fihanedal_Sadas 'H/\FM {77
e With, i oYtgage ..




‘Write in the box the number of the question you are answering ‘ @%%'\'7)1'\ \ ﬁ.- [
\

on this page as it is designated in the exam.

“The 2\()(“1( Wu\mﬁ— Aree. /%m\wﬂ *\\\’“O\AA\\ anotarT
umq A m(}m@ Olarex ‘s \b Q\(}Uc ol nu Tree"
Lo tep rf’ﬁi\)rf’baw\*\x o\ J@nma\\f Lrom S N roat 1o

e ™ bmﬁh&" é*rekrchm%\ forwacds G%Q(hg\;\— He “Sun and
a&sING . Such Ligucatie l&ﬂéu{ag and

\@Oj\)m% S : ?)\tl
S\!rmhn]isrn anck ;\rymsﬁ‘r\[; =ity :1\):56% Por\w:,t{i"s

1%@(’4%( dedices, as
the relation ship __of e tree  ond famidy. The dree w5
Lwetd deseribed o5 o s\)miﬂ*,‘ mere reecled 10 pay e
* Rlacl. Walnuy Tree " shill

; Y‘norjr(c)}agf.” Ltn e end Al
Stonds o bac\tuar(l P Ondhn h. Mmeaatin, E:\)f‘(‘f L‘m (Gpar“
Tle Spealar \mn%'% Hhet- J(u Familics for qum LS o

L f}tHICb\,\-\’ 'HM&. S\[;mbﬁh%m& 00 cles Pr.ﬂﬂ(, netur af

Mo meler s Hoe "Moo women' Gre “-\’Y“\{(Yltfj o 4D b ke’
SheQlers Soderent

Sumbo ism 6o appears Tl
butlr Sompsr\nm( }Dhﬁ\hjrﬁv’ Hion hore Mokes. i our blogd "
m—/aumbn | gy \Dm it Stromec 4haon MO Also, 1+
.S\rmbo %c% Jl“l‘& &‘g‘/mnd(’ ot \'orn+ac€, with e e My Sodlars

ot of T%o\«.m;c.,”fcnrlln Craw\ with  Save o A ﬁm?%re‘tb"b
" Lilce Tasvee

e'el mede 1 one own Gnd ocwr fta baclc&ani
Whese. Sroots” are “tn He celiar deams " e, Pomilics
O I‘) oc}c{(jr,fd " rfﬂo‘m% out “The UJ\'\'N‘D"CYCLL\&
1S ek Yo Yok Ghaidh Na. Aree btﬁt}c@ﬂgaﬁ
15 Symboalic beceuse Tl

mo*% folus

ot T mertaaac”
g’

enclurs every (C)r*of but s item
{'—&m{l«@) hears  Ho burden o{"_“mw%a&c”no-}' He Free. T free s

‘}’Lwﬂamr"g m_ that i+ u-m}r.bm-r& Yrependons, Streun -

|




\ Write in the box the number of the question you are answering H - :2
on this page as it is designated in the exam.

T Qaery % _Seen. heou Lc)howl’ Comxl:)o{r'u'ng . " leaves

o aeuma heqvier /t"mr'a year _anh X froik herde o %cA-ur C{quj"’

o T, ima;cj@r\f ook ‘:hoo WORD ‘%-V\!.mg +  lessen 1l

Wewght af debt while Lnow e Gy .?rlo ore. hard to Find. TG,
tree ‘C"t%\nfg aGainst e S&torm . as Yt woran
o Fry g+ “rJ;&" tumselees et but . “hoth * don't
Ao onythmg "o _&top e Constant theedh of

O pposers. TNC Mree Si0as Macough  anotur LQ)CO(('" \ilee,
iy pendulum ol Fine om ¥ fomy condiees Yo Eecl

Sl A w\r\;\:f crec\e ot Al ﬁmorﬁi'%aéc,f’ 'me\scrwq/ Fee\E

L Y POCO ushides o —resdbestrrac pectles s

netue ok bodh AW ree” enlh Al -Pama'[(‘j;'- Rovn

!

e

ik’ an pesible. T speaked exprss o deeamsle
bigdh! ™ot by fodurs vl of  Bohemic !@‘r\\m% o
Ple $idds of Lreeh  enih Slnercas hio [with

lf’aw&, end  ods  endd Or(}wcrﬂl&"’ C,rcd-mg on__ ‘Mage s

V)
oA jéb;;\‘: €79 mc‘gﬁ LASure. TS nek SL{.‘ bels 14 ng_mdiﬁfﬂ

(i%{ LN 15\,{1{'{3\90\:?5%/1 and __m ageLy A
: i lee

an )" Rlack Welnuk Tree 1o “uae (soren’ Doy rocked
/)\eﬂp N < T ’Poﬁf\’ —l’r\‘umég to el ey £ Tl

\LSwn" ond Mo Wy b 1L \Jrlwo. 5\Irmhn\ﬁk.]'ﬂ o.reares
T allusion Poal S e s Mo f_—am;ta beth ald




B #-3

Write in the box the number of the question you are answering
on this page as it is designated in the exam.

ondaeed. B Tmoteme poricans NS hor M
G I e &7% Cammen __+CialS

Hee  and %&mi\%}-
and_bucdens. T\ redonen ehvim behween e cndk Ho
of-  pespled ok sidmedion . T A
ueh ot '.Powe,ﬂm\ Then

‘QO\I‘T\ 1 (_\A S O
W u 1
bloo “mowed T Sopredhin e

\
‘o .. Plow,




Write in the box the number of the question you are answering ' C__i
on this page as it is designated in the exam.

Th >The Black CJalngd Tree,” wm Oliver Comfffcjs
"ﬁuf lM00r+M(f 'O'Y %C"Pt'fao.e +LPOVQ\r\ vse o‘r -FrS‘I

DErSon no.n+ o'T NATAN, omcl S‘ur"\bv 1S

Lhe j;\"rﬁ' pelson f)o_"n'YL’O‘Fﬂ\L;'PLJ_m Qliver’s poem

FMDh&S‘\Z"”J /H"IP fo-SOflaJ NICC{IOK)SI’HI’-) ’H’l@ qD@Ql’fef\aﬂC{

ker Bonily hove csith the Hree. H’)@ s’DFakér and _her

("IG'H'WFF fc\\)tn ’H’W OOFM bu i‘rmm‘ 'TLO POCL(‘sna{ il =

i 6”fma’7/’“mp blorle buajfw;tJ ’h‘éé’ ?2 2) e hich has

aroWn i Aheir Ybackouerd“(29) for aenerations. Tnstend
bualc’ma CA )Oan_cc am‘umf’AWL im\ga&Srona'er

dev‘erwmnq the Jote o the Tree and the “mortocer'()

4he <o€a\l};}f’r cnd her rother relay emot: analu :

ideas and Fo:}sono;‘.zCJhonS ‘Por [Er10Y NG _H’lf 'l%’*e@

Bt the oflached fone conveuee in %%m@»

the finst person m;m’} Y Fapifnn mouke,c i1 elear Ahot
the o:Hc\LhMﬂn’f ‘F the Fornly o The dree i< o
rrotivedion b riaiter than mOnc\Z)u”(lﬂ ond e desire o
‘ch\ At the %rr'}aaao “E5), ﬂ::)c’. tewmilu_heritace woh ch
lS *}'("C b% Ta 'H'L +r€€5 Fao IS\\MUCJ’) /"i!‘e,
tMOw'fm’% soxwlw 'Hnr’ §0€aﬂf(’r andd her Mo'Haef‘

”}'a ’(’H\c’u{ coon'd do/anuﬁmnﬂ (ZO’ZD ’Hné',u O\I‘(i oo
war‘u ot \grc’a—'}mq =N ’{'E'rr hle C’Mﬂ.f mes”/ZZ*) - ’H’Ifu
WGFE fo r€M0Je the free. The Fae i_a_part a?ﬂue —Pw«a

O[:\f@f’ C,O/)v’fus “Hﬂf_ Cé a'rrar\s]n D be‘!wefm ’Hfzci

aFOw’Hﬂ O*F "H/)(" +P€6 ond C:f‘Ob\_/_fL[fl O—F "ILJ’)f ‘PC«M( (A

—




'i‘- Write in the box the number of the question you are answering c - &
on this page as it is designated in the exam.

%hmfum olrsm., Hnﬁ ’hﬂe r'}se ,T TS o Supmbol ?0(“

the femily  eohich is wﬁm the spealrer and her
moTher 0\9” So comwic,‘hf’d oONECr ’H/)e 70061[6 o‘}’\ 'Hﬂe tree
and _olimntele clfac(r” +o le’f Jr S'}a\nc; mOn’Hn Her

C)S'fc"/lfrb ’H/\éu Glé. d:%uSSma a lone 'free.
Lq/!'H’] “clerk bauaﬁsﬁ T c;mcl ‘roots in :}'106 cellor dresn”
f) "zc/’},m &c'fua]’frA H’lffr o @ o’r&:uﬁ&f\c. ag-\amllu
”anfj u/% JP ‘Fl“aqun'{ Qm’H/\ (‘oA‘Per,'{ al e ‘Pc.v\m}u &
/[40056‘) ’fo [€raain ’lLoo\é““néF C/\nd OCTTL ove v, | uS’F

ps the free s o c[drec'% liake o _}L,,f\{Dw; IKS
hf’rn”}cu:\f p lended bu Nathers out af Bohermi” ?{223 )
) B | et ho ’f ‘H’)é’, aler's ‘Pch:

Portbuns & 50 long_aus Thdi. STpdl . 26 ol 5oe.

S
T~




Write in the box the number of the question you are answering

on this page as it is designated in the exam. QuesTioN L ék!
AS _humens, we_value /“/’u//ﬁﬂﬂ?/: mﬂms?‘(ﬂmmx/ A
Olr_Safe haven. We chersh #raclitian becdise i is cyche
and _F£yhdr  anel THIT i r’rm/rfmf'ﬁhg To S, in Ohver’s
TRem_ “The Block Walnut Tree ” such icleds dre _refiectect

Phroughl_7he Qdrcdlpr s el her (ofier (s reluctince o 53{»7‘

ricl_af el _Tree. Th;fou;c,:rh ehaphasiy__arel /mr?g;r},/l Qlnver
(enveps Jhe ol 1pa fomilidry  conflct  befueen 1he
,?7‘?’,’,{99/«? 10 1ove manes  oncl et St Yonar gy
Spurrtudl tre§ ivith_tiae pa 57
MOHQ\‘/ 2nd_MasT speci{5ca/ /1/ f’)’hi’rc:!a?ap ﬁ* 2/ ked
ballt _aften. They cdn sell #17¢ 7%9@ Qf'}of /}9\/ g~ 770
mmmcaoa “Cline &) or (Ago 1 Jown So 720 [07
o/oﬁ 0@7‘ " 7he no//af dr)ms Which_inbiid _cast. Them
mmmgﬁ3ﬂwa,f}BQy9%“ﬁpﬁﬂ%df%h?pww@
Oliver soxs So The vplaui tree me?s 11rouUgh
- _NATNOL OOV oo 5 popd, £AOMTIR) ST/ LDAKTTI, 700 IANAN0 =
Crack o 7He /’)’27)”7‘9@90 2 /4375/}7 i e 14/)0/“-7‘97@99}
but IS e i) g D wnjen ;mc‘:{_}p 2 & Whip-
ik “‘fh(ﬂl/ ope_SIWVES 0 Fhe bonk ; Slorves 70 e in &t~
TUN N @f /’?wﬂm/ Ared Vel he Tree  [ernéirs, (/ésfaf fe
7%P¢%kf"ﬁﬂof'ﬁﬁQV'éfP RPN CELE @5
Ay PPICUL T 11 "’/L//Jf [0). 7}’)9\/ are strdppec! +or
mshjbuf They clon 1 MpKe The  clecision 1o gpf
vic of 17 N@r _afier yeor.
[he_Tree s dlmast Socrec! 0 Ther, +1ey o el
i 4

LiNne 30 -3%

N




Write in the box the number of the question you are answering G_ l

@\U&Sﬁ Oor) £ on this page as it is designated in the exam.

" Craw] it shemé in 1he_emptiness. el medle ”
(Line 21-28) if ey got rid of 1he sree. The tree r€pre-
enIS_samerliing “brighter Then money " (line 1G) 1o
Thern.. The night arer aliscussinig 79 be ricl of 7h4
diee, The NOrradfOr has & clredir kol her ancesidr.s
M@WQ@M@W
e (see (iNe 20=25) Thot is_wlhat The 1ree pepreserlrs :
I Hinat ey Ay g i And Il ThatThey hove accomapiifhed.
This free cotilel Crush 1heir house (Linel) or 1y
cotlel nat- be alzle o DAy The rmf%c]vag? ~bud Tney will
never _have 1ne  hears 1o (J)M‘ picl of it It is dheir ,ar/h/e,
anclitis ol They hove (674 of Whot S ardd WpdT wos.

T s TNISbelief ond nostalgil hat feed The

147 rtudlly an ca/l




Wrile in the box the number of the question you are answering l M - l
on this page as it is designaled in the exam.

| h ’(hp poem, The B LA Wt Tree” oy

Mowu DI EY - it famiy ha 8 bond ey
Waknm Y. Mavy olibY e Personif Coon
R o e 4 Coh\;w e \f\)\n}\’\\\,r\m\ﬂ Wivi
“hy %&m\\f M The et

DNy wied perfvnif Codnim th MMM
Fhe om0 N\O Pt RAdend mf\ma\m i bind
i +mq'\\M E’\w\,w YA et W adnk e
For WWMO\Q ALY SmmH’hmu DAY th an Ay
Mmovts_ L bwr ploed monw A6l nit i Harovish
4t Y10od pd Yl CW\O\( 1§ A A sd—a e conid
Thit family heed i RNy HE Py YRy n ove
owd thay g\wd\u aORALY) Yt free pocauit \)
(epverents Y £afiner v wwband Yhad Y\r\w U
\ost. * f Yo plack wWad pud et pwi ng§ ﬂf\\’DM\'\
bk \MMD? W ind \eaping windl ", is
Ot (X win 14 o ’O\Wﬂhmﬁ(c’v‘h on_ Tl
g wind(' WMWJ Ll pddd b Vel
mum wnd he ond,

OLIVar pAST Whed Lnogery 40 (onwy +ha
e Ve Ladiongh 1 p Aeth Y faminy wnd
wWalhwd el A i agry + help #id
Yeadw( Imogr g it reladon Ship withg
Huee ’\”\nmmﬂm\ﬂf Y P e YMm\N\ ALY

—




j Write in the box the number of the question you are answering M "ﬁ,
on this page as it is designated in the exam.

Dh_Sedling U wokywwk e Tha £ ol
decidel wtH0 SUb Anid e oot 1y Y
\(meﬁ’ e fahow oF ﬂf\HMmW\ Thu
ftany o) 04w [0 1\ OMS Wi )i
Yot (onhd e +6 nowrt i F T

dd ot ?*U\H%S Xvee . Foy DALMY L\\L\o

i, £ oumn\mw Wil chn dfbvxm B JJ

dawl bﬂmm.(fmmhm M hand= T

A oy MM EANES mow\&n’vi 4o s

P 40 add a neom»me nommw In Leppg
*t’\mS e Chwyndn Anv\m df YA \ammru

fm ﬁLJhma e howe Cam al\fD J‘Um\\om

T REPert of s Fomnity Wi w Lol
Fgwst VY o s g . W (WAL DY A SD

RS O har lmﬂﬂfwaﬁ’\f\fh - o ed g4 Shanp afid
G amm\m ’I’houk wande wl 0 oifq and
S’OW' I N D D N U O f umww +hak
Dovides d (pn e (HDN ptAwgen Y Fvmnd W
(M\dl ot AL




Write in the box the number of the question you are answering . -
on this page as it is designated in the exam. QUQS’\‘lOﬂ : I I
The Black Ubl\nut Tree 15 a nc)em ; mbol/zes
) J\'f@@ Yo_on_entie Qamxlu This Jrl’ee has bem on Tlfm land

M@M@&Jﬂ%ﬁi’m
Q,MA\(S et e e down g let 1k e, As Yne

women thinks aloat B she Yhinks of @\l e Yimes thed

ﬂeﬂjﬂemﬁgiigmjﬁﬁm&ﬁ&ia
S ﬁwﬁz_@&mkms_m

Connot Da{lr Stom it yet,

Mn)r\\e{ and OWer Q(gﬂ iL&EM[@Q.@LﬂQﬂﬁ_HﬂLﬂSp
\coe

3&\( (\uu\rp()ujt Hﬂ@ Doem ol O nmcma:*

W\e &\Gm:\u A\mn‘%“ L\LQ, \3r \(\0\& Ch”du)r\
M&mﬁhﬂmﬁh&tﬁh@m_

ofe \ommmna Yo couse Omh\ems n_ Ye cellay, Fina) J

Yhey we Xv\’{e ooedd, m)pr e Yoed.

M@B(\‘\ev ona @)\\\)e( Yo\t abot what ey could._do
ujt_n\ W noney ibg% cou\d Qe » Yee .
fea\ize. Yne Wee rneans mare Yo them than haumg
e ma%@gg Qoid s gfambg\;m; A[\gqa cate Sor
\n\mcrl ey W\oneu\ Finallo, e @ader con See
\'\(\R QQM] U Caves mo(e @or W\P WEemores._Hnan
Lyee 300

+T




i } Write in the box the number of the question you are answering D - /
' on this page as it is designated in the exam.

s il - o ) v ¢
T ki P 0 em Fhe €ami lv Segms ery Conf it oy

ﬂb@l{f} Ihf’n"' e Lﬁ !?}Y\() l\ii’) ‘/Vld’ f\- '}'_'h,[{ d_ré’-(.’,/ ‘L+ STeem (V '\TJ
ieﬂ,\,«
Caude Yhean olok (bﬂ ewhle  with iks }L"E’cbvéf bﬁsﬁﬁ;ﬁ\/

C dvans
1 o ‘ ', 2 \k g/a{g{ ’T) <o f’f’r"' 6\»?/.!’1! Lf e
I a-,_ks;o) Q\aau\ YO ,@\l (Mwn N (th’ !’lf’.H SWM

= SR 8 7
/}1&, Con [of Jw}’ Sdl Yhe dvee do Pewy o Fhe WLC)/f-:QLG(‘n
bad-; @@WI@'} hWE)L b ly her e MWy, monress PAGE ;dn (mef
The LLJ(;W« Plnded tn, b tree, Hu—-ts Curvently in y T—.
O /l’IC* Qud - Lé? '\Ltu M»c:;; btiwld crouwl widk Q/u,m( 11Ld iy
sold _fne Yvee,
SC/ (\"f\f Xree “Sw mgrs

0‘\@,3“ e 4

w’lr”) r‘Jw&« <

e

/dﬂ prn ; MJ\-\
"“QQ Cf@x‘k o




